6.1. Areas between Curves
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Example 1

Find the area of the region bounded above by v= ¢* |, bounded belowby v=x ,and
. SR
bounded on thesidesby x=0 and x=1 .

f?<x>_:ex \9@(): X




Find the area of the region enclosed by the parabolas y= x* and v= 2x — x* .
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Find the approximate area of the region bounded by the curves v= x/V x2 +










Find the area of the region bounded by the curves y=sinx , y=cosx , x=0 ,and

x =12 .
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Find the area enclosed by the line v= x— 1 and the parabola v = 2x+ 6 .
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58. If the birth rate of a population is b(t) = 2200e"** people per year and the death rate

is d(t) = 1460e"""** people per year, find the area between these curves for 0 <t < 10 .

What does this area represent?
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